SplashlLearn

3-Digit Subtraction Word Problems

Solve each of the given word problems and select the
correct answer.

An event had 652 attendees registered. On the day of the event,
only 198 people showed up. How many people did not attend?

a. 454 people b. 445 people c. 850 people

The museum recorded 915 visitors on Monday. By the end of the
day, 456 visitors had left. How many visitors were still in the
museum?

a. 449 visitors b. 494 visitors c. 459 visitors

A store had 678 toys in stock. After a clearance sale, 289 toys
were left. How many toys were sold during the sale?

a. 398 toys b. 938 toys c. 389 toys

A community garden had 302 plants at the start of the year. By
the end of the year, there were 754 plants. How many more plants
were planted during the year?

a. 452 plants’ b. 425 plants C. 445 plants



